Aga Khan University Examination Board

Notes from E-Marking Centre on SSC-11 General Mathematics Examination May 2018

Introduction:

This document has been produced for the teachers and candidates of Secondary School
Certificate (SSC-I1) General Mathematics. It contains comments on candidates’ responses to
the 2018 SSC-1I Examination, indicating the quality of the responses and highlighting their
relative strengths and weaknesses.

E- Marking Notes:

This includes overall comments on candidates’ performance on every question and some
specific examples of candidates’ responses which support the mentioned comments. Please
note that the descriptive comments represent an overall perception of the better and weaker
responses as gathered from the e-marking session. However, the candidates’ responses shared
in this document represent some specific example(s) of the mentioned comments.

Teachers and candidates should be aware that examiners may ask questions that address the
Student Learning Outcomes (SLOs) in a manner that require candidates to respond by
integrating knowledge, understanding and application skills they have developed during the
course of study. Candidates are advised to read and comprehend each question carefully
before writing the response to fulfil the demand of the question.

Candidates need to be aware that the marks allocated to the questions are related to the
answer space provided on the examination paper as a guide to the length of the required
response. A longer response will not in itself lead to higher marks. Candidates need to be
familiar with the command words in the SLOs which contain terms commonly used in
examination questions. However, candidates should also be aware that not all questions will
start with or contain one of the command words. Words such as ‘how’, ‘why’ or ‘what’ may
also be used.

General Observations:

Generally it is noted that weaker candidates are not well-versed with the hierarchy of
arithmetical, algebraic operations, appropriate formulae and their application. This is
generally obstructing their performance in overall paper of General mathematics.
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Detailed Comments:

Constructed Response Questions (CRQs)

Question la:

Simplify the following expression into the lowest term.

a®x? + 2abx +b? L ax+b
@f b7 axb

Better responses exhibited that candidates were able to apply the desired formulae of

x2 —y? = (x+y)(x—y) and (x+y)* = x> +2xy + y2correctly to simplify the given algebraic
expression. The candidates were also clear about the concept of division of algebraic

expressions.

Example 1:

@tal2abut B W gyl
(axb)(axtl) an-b

Lot [ayedp)  athb

..... a®y 4 okt Xe@sh o

& R L @l o]
(awt l,l - am-*zal; ;LHD“
A‘l’ls-' = j_
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Example 2:

@ Ol 2 b+ B L ax +5
ety ~ L Cax-b

. O s Raba + B A ot — 5

{or - !::]{Q-t +6) oA A B

/'51‘1'_ -+ _-'E:\)j\ v _ra_;ﬁ(-___%'—*

e N

Weaker responses indicated that candidates have confusions in writing and applying
formulae. Some mistakes are cited below.

(x+ y)2 =x? + y2

(X+Y)? =x% +y? +xy

(x—y) =x*—y?

X?—y? =(x=y)(x-y)

In many such responses, it was noted that candidates cancelled the terms in numerator and

denominator incorrectly and consequently, failed to simplify the given expression to the
lowest term as observed in the given examples.

Example 1:

a4+ abu 4 . gw +6 |

_ﬁ&ﬂgz-_f?_qﬁﬂ_&_m{_-hb
c:l‘:-lL - &

___Zrlfl‘lf._.x_a_hf + 5
AW -5
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Example 2:

—_—————]

A*n ™ ¢ dabn b+ "5.‘ -djr_-t-;l’::»
faw)> —b*  Taw b
a’>u® +dzbn b x g
(axtb ) ax=E] YTy
ax (ap +57) '
AX b i

.

Example 3:

. Opbiow:h
a* 13 Qobr iy = oXiw

Cleypr. . arb

(o) 320ox v = oxth
= oxb

Iﬂ"\"’b — T T T
'%L‘:b‘— oYy

Las\y Loy Y-

30‘1 lb" . —,; T T T T
Mlaﬂﬁg Ay
_ Dangdvy
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Question 1b:

, then find the value of x+1.

1
7-4/48 X

Without using calculator, if x =

Better responses displayed that the candidates started with rationalisation of the surd
1

7-/48

denomaitaor to acquire the simplified value of x. They found the value of 1 7-+/48 by
X

and applied the formula of a? —b? =(a+b)x(a—b) and got unity, i.e. 1 in the

taking the reciprocal of ! and added the values of x and 1to meet the requirement of
7--/48 X

the given question.

Example:

= r.i- = ‘j' - o

-0

= Rﬂ-lffﬂna”é?nq :
- A * ’1+mu

J-u 14+d0%
= A +{us I
)
=144
R S P §
= e fud = 14Ju

A e
* .

_—

ool + 1 Ok
"'-:}q{"‘_.j;—{ = 14y -ﬁ:!mg

Weaker responses exhibited that candidates were failed to comprehend the question and
committed different mistakes in solving the question. The mistakes entail flawed process of
rationalisation by selecting incorrect conjugate to find the value of x. They failed to apply the

formula of a®—b? =(a+b)x(a—b) or made other mistakes as cited in the following
examples.
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Example 1:

2 = "’1—:-’-1{..—.
I-VOE-+ |

Xo—= A

3 T-—vua

Question 2a:

are 3 and —12 respectively. Find the value of a.

The algebraic expression x® +3x? +ax—b is divided by x—1 and x + 2. The remainders

The candidates were offered choice between part a and part b of the question. Less number of

candidates opted for part a.
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Better responses showed a clear understanding of remainder theorem and its application.
They solved the question systematically by application of remainder theorem to form the
equations in terms of a and b and finally, found the value of a.

Example 1:

-l —m me MLz wa~l

PlY = wamW kot PED- wiasnvtaawn vty
e FEV PN o P PR )

e =tk B

- T L e e - = -T2 24 -3 =D
= L e by — O3 ) Lt 1 et L .
= Ma-ta=d —aby
T
LopsThulivbibe ~jolkre oy o0 i oy B,
o ]
Ve lie-w 2w . ) ';.u\::&t“lmﬁ*—&—\lm_\m: syhoineay 0
B L e S N Vo =G ey
Y -
. T T - ) _ A = ) o
- -
1Y =t s 1e . £ oo .
1T e Yoo s
Example 2:
A AR Bt gy 2 90k -w o G
_____ OV+30T AN - 2y S N V-
Lt 28lva - .3 2 -3k = 1%
44 -b o= = b= ¥ &
i E
a-b 4o
N Ry
L az=~l¥h —ea . F,.ﬂ%:hah value o kb '-n{iﬁv i)
Y sl ral-2y ka2 S U

Jaa
"h AN =Ta b 'J-—"l'" r;-_—g’

e —he eI ATR -

—:I.q —.ﬁ‘.;—l'g- ..-ne.u '“_

et o *f% iy '-ﬁ';.,gﬁv w0y
= .—)'(-1‘!-5\1."\5 -;-'1;

Weaker responses showed that the candidates were familiar with the remainder theorem but
failed to apply it correctly and made mistakes in substituting the values of x or in the process
of arithmetic operations to find the required equations in terms of a and b. As a result they
failed to find the value of a. Few common mistakes noted in the responses are cited in the
examples to highlight the misconceptions of the candidates.
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Example 1:

)= [Pea iPeali)- (B

=-l4 24 0-b
= Ao

p_{f"_tl> =(2)2+ 3 (2 a(=2)-(v)

= @ xr2bLir200-b

_ .‘_}]}l’ﬁt‘ '..T-f_:'-lf-}

s }

—1rob.

Example 2:

::134('5711 +O% -b

- &fded unA  dwided by n42
3 (Y ol b | fades (a2 aafrn )4 b
C-)® 3~ \oxh (1)43 (F0)+atl 4 b
'_\_3,\@?5 m%gﬂfg +UAA 4Lt b
Qbbb ~1-2-1 | trvael v 4w
bz Y- X2 - Oty

gith = 3 DHH__,;-HH!J'L- . N
- ~ latbz 15-2
Ath =~ e )3
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Question 2b:
Factorise the following expressions completely.

I. ax+2y+2x-+ay

ii. x?+2bx+b?—y?

Generally this was a well attempted question.

Better responses displayed that the candidates factorised the given algebraic expression with
correct technique. In the first question, they arranged the terms appropriately to take common
to factorise the given expression. In the second part, candidates properly applied the formulae

of (a+b)? =a®+2ab+b?and a® —b? =(a—b)(a+b) to completely factorise the expression
x* +2bx+b% — y?.

Example 1:

Y. CnL-‘rll-; +UHY
_ Rrgange : 0Lt Y2y
= v +2)4Yyla+2)

=0 aray

s X2t g
CORWIB -y

LA — (P
OLtb -y) (1+b+lj)
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Example 2:

1) axt 2yt 23 tay

o+ 2w+ A -J-Q%t
wxax) gﬂﬂ—?
___deuhd) ?_cﬂ'l:)

Wt o+ o2k dbE oyl

—|_

(0 2 (B %) +(,»;t:" ,
(‘M_ +J=-> -r't.’r_l:) o
()ur):"]i g

S(ﬂu‘b\ ufs; sJi’M-IJ? f--i

.
\.._

Weaker responses showed candidates’ lack of understanding of basic algebraic operations,
concept of factorisation and algebraic formulae. Some examples are cited below.

e a’+b%*=(a+b)(a-b)
e a’-b*=(a-b)a-h)
o (2y+ay)=y(2+))

The following examples indicate few other misconceptions in finding the factors of the given
expressions.

Example 1:

_1 Oy s o b Y
6 rior=s {ak b)i -
(a2 P Y,
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Example 2:

) ay. +l}(+l¥._+ﬁ,)?_ —— =]

CLf.J.ﬂ..U._L rj\."J_ '}Y
?—w#@&

ﬂf o

-7 . 70 Boswes
Q

iq_. 11:: -

J._+_7-hL+J3_.y—~_X_4*
Ao obe Woyr o Uk

L% vt

3 4 C
2o ytxt = Y Boswes
Wy o a2y
Question 3a:
Simplify the fractional expressioni—i—1 completely.
X—3 X-2 X

In better responses, candidates took the LCM and correctly applied the rules to simplify an
algebraic expression along with correct use of signs in writing different terms and able to

fulfil the requirement of the question. Hence, they got the simplified form of the given
expression.

Example :

I N U
A3 AL e

o 3f-0) - 2D - )y

S

(w11 A)
=-> -3{1-1*’1.“} (-2 )- | (-~ 50 +6)
. (**3)(1—1-}(*]
s B
=& —E-)Lwrl) H

gp BAL . opes

-3 u-agr' )
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Weaker responses showed that candidates failed to take LCM or after taking LCM they were
unable to write the terms in the numerator correctly. This is due to lack of understanding of
algebraic operations of multiplication, division, addition and subtraction. The weaker
responses also showed that candidates have confusions in writing correct signs of algebraic

terms.

Example 1:

- o | GaF v - W T

WET A W Wit -

RS

MW-Gnil |
oo 20 SO

_'V\_l_ T -3n th |

T |

—_— e
w3

___“L?T' ., - |l —
-2 (w3 ™ \ ]

Example 2:

C b A Al Dy

e (W)

B -—ﬁo —dw %—":: - "hl’ﬁ—g"'\i*___gi_

AT PR A lw

e e T N ey

w® fi)w"’ - Lw\

> w et —

P N Lw

Question 3b:

Find the square root of x* +4x® —2x? —12x+9.

Better responses displayed that candidates comprehended the question well and applied the
correct process of division method to find the square root of the given algebraic expression.
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Example:

oINS
- KN W+ 11_15r'}u_",.\11ﬁ ______ ]
‘%-1 - “.__ _
P A S A R R
PR
L4y [ ooy
-a 3¢ sipas
N — /S B
RS
! Sauo® vool v ".'IT(KL—l' pE' -*Btl

Weaker responses reflected that candidates made mistakes in the division process. They
failed to follow the steps needed to find the square root of the given algebraic expression. The
mistakes are noted in writing divisor, quotient and sign in the process of addition and
subtraction of algebraic terms.

To highlight further mistakes, three examples are cited below.

Example 1:

oxtada® A 4

ala A

1 ¥ Vox -y -0 v 4

A Ry - a¥Riaa
X+ O x4

. ok U
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Example 2:

W 4902 . i
YA e | Y
V9 100 iy W
prbe] e
bl e -1+ o lun_
'2,51“ 433 Ye)
_ =040 9oy 36
- Hﬁlr E%\Jﬂ]‘ \S’q}mc
Example 3:
. B -
= U3 - 29 - o d 2 WHUW - 202 - D
-y B eond et G Yw g

1

L [ - fom e | = W= L0wn-wd
s Wy B Iy im43 = 1\:’— ug+a
- -“‘-{: 6"“-—\‘-2_"1‘\*‘3 N = @B\H

k. '}'\u:'é"‘r?) T he 5014

= .':“D, e
ke Ao -2 Ll
Question 4a:

Find the value of x for the equation 2x +§ =—T.

This was generally a well attempted question and candidates were able to find the value of x.

In better responses, many candidates took LCM and multiplied both sides of the equation

2X +§ =—7 by the LCM. Consequently, they were able to successfully find the value of x.

Page 14 of 33



Example 1:

1f*i :‘""-T i .TIJ.F'Z.H
3 |
| x=-3
(20 akx 2 - Bx(-) | X:-3
g | 5_'.&.?_.2.."..3@__
é.'.‘-t + 7 = -2 | :
Example 2:

]

e -"r M. = AN\

L Tiom =l

Weaker responses showed that candidates had various misconceptions about solution of
linear equation; therefore, they were failed to find the values of x. Some mistakes noted are
finding wrong LCM, wrong multiplication with the LCM and application of inapt hierarchy
of arithmetical operations.

Example 1:

2 AH =T

=
T M = 303

T A = —LY
Sy =
e o= =)

=]

Page 15 of 33



Example 2:

Question 4b:

Find the value(s) of x for the equation | x —18|=18.

Better responses exhibited that candidates correctly solved the equation involving absolute
value in one variable. They removed the modulus sign and wrote x—18=+18and correctly

got the values of x.

Example:

i1 —18l=18 S A= 36 ey .

=y~ 18 = 1§ Piba - 1= —1@ thep
Ol a 1§ =4 1% 4hen, Lt -12- -1

D - 19 = 1% ST = 18 4.9

S 18 a1 ..H...;_.-WM,_L_M?'.:L:.,‘ =0 fos

Weaker responses displayed different misconceptions in solving equation involving modulus
and consequently, failed to find the values of the given equation. Few misconceptions are
cited in the following examples.

Example 1:

IR AT
\'P -1-—'13’
36 .

Example 2:

1w 1€l =€
=18 118
n= 3o
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Example 3:

[se-te)=17

Question 5a:

Find the solution set of the quadratic equation (x —2)(3x —1)= 2.

The question offered choice a between part a and part b. Most of the candidates attempted
part a.

Better responses indicated that candidates had command over the solution of quadratic
equation. They first multiplied the brackets (x—2)and (3x —1)and then converted the given
equation in standard quadratic form. Finally they applied quadratic formula or factorisation
method to solve the question. Although, it was very simple quadratic equation but some of
the candidates used the method of completing square to solve the given quadratic equation as
well.

Example 1:
I"'-’ZJ (3% 1) = = B
Ex* - x-—6w ¥ 2 = 2 -
5"‘11 — % — £ = O
S G =0 . _
x (2x-9)-0
w=o | 2x-%F=o0
3w= f
L= 7
- - S S - B
sz:q[a}i___ o
=
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Example 2:

{

7-N% 1) 29

{25 -0, 9

Lat.qg ~bas) =2,

R Ry 42 -1 2 O

B EYCR- e I

~b £ 4]1:;,‘1"4&\‘.

2o

~(-TV s JEE. LRy

2. () L ] 3 -1

J4 44H8-O e ,_éq. - ﬁ

2 \ A -
e s S lF_"ﬂ [Zol.
G e .

%.}/%: D% At

Weaker responses indicated that candidates were failed to convert the given equation into the
standard quadratic equation. They also wrote wrong quadratic formula or failed to identify
value of a, b and c correctly. In few other responses, it was noted that candidates correctly
identified a, b and c but failed to apply quadratic formula correctly. It is also noted that
candidates wrote (x—2)= 2 or (3x —1)=2 which is a clear indication of a misconception.

Some candidates used trial and error method to solve the equation but failed to find the
solution set of the given quadratic equation. Incorrect use of algebraic operations was evident
in many responses.

Example 1:

()

4

o b=
—~bt  b*Yyac -
Tt G -
1O RS 27
TR _ &
M 6 - __(,-[—Q_:‘;_'-[ - -'G'--?:"?
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Example 2:

(w2} Upel] e

i
SR VY GO N 10T O RN

ﬂ'ﬂ.ﬂ}-— 6(3’4\ iy Q_

=1

oS/ RV Y Sy

= Aecbued

SRR X ) SR

-
T L1 i Y
W,

i -
bri 5

) ("' Eg

gy

o
G

Question 5b:

integers.

The product of two consecutive positive odd integers is 1443. Find the smaller of the two

This was a word problem based on the concept of quadratic equation. Very fewer candidates

were able to solve it correctly.

Better responses indicated that the candidates translated the given question into the quadratic
equation successfully and found the smaller number by solving the quadratic equation using
method of their choice, i.e. factorisation or quadratic formula method.

Example 1:
Lt h{‘iﬂt nutnber be . fecond mumbeve
Glinta) b3
atida glawy o RE ]
Ptamelits o R
T I s R
L b j(T,y-um, ~2 41 "R |
g 2 S
-2 Jiay -4 R
a0 wfs| o
R o PR
_.[‘,}. B A7 Tt the tmalliy ?nte?er.
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Example 2:

@MMMM}&Q&!& Mg T —

&emv\gx Lottt e PIRNEY D(:)Lg\ el Ry A R

. Kw}b\ﬁl\: =AM !-w@ w = 2

AT =T, : 3, WAL 3%

A =0 | =% m I T N N
mﬂgk_wu.ﬁ.\m)n %u.&mgL - L L VSPN TS
— oalslent iopaMdd - -*__‘Xla o e M’ggag;g |
s ‘qﬂm.;__ ST N R — |
S 1N '—Eikb AN —_

2t A Sl 2 A —
Sy N . —Q%{)
Fx L -4 i

Weaker responses indicated that candidates failed to form the correct quadratic equation.
They assumed x and x+1 as two consecutive odd numbers or they failed to translate product

as multiplication of the two numbers. In solving equation, they also made mistakes as
depicted in the following examples:

Example 1:

w4 4 tnnu_-tu":we_ 54& " -

R i34 w20 (e +1) = M43 |
X +...?¢___:___!_Hﬂ11 o
2 -14y3=0
l‘-ul = B4
> = 14y
P

x*= 3¢
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Example 2:

acast ba: [ntegosk  Tbl=lyd
o, kgt
b H(m) !443 Uuri
L+l = 1443 = 110-h+)
du42= 1443 = 7115
= 1443-4
s luyy Tha Smallest OF fre tut
T ineegers i the ulue &)
? L Hhat 0 05,
wz 190k
Question 6a:
Find the matrix X from the following equation.
1 {1 2} {o 1} {10 8} {10 8}
— X+ X
3 3 4|12 3 6 4 6 4

This question was based on the concept of operations on matrices, i.e. multiplication,
subtraction and addition of matrices.

Better responses showed that candidates had good understanding of the concepts of

multiplication and addition of matrices; therefore, they were able to find the matrix X from
the given matrix equation.

Example 1:

T e .
a:ij XX i '27-‘*:[?3 1Mo olafin 7
L3 1‘.23 6 wlle uli

1/a X +|0+4 I+6 |- |lo+1o s+8)
— 1o ¥" 3uTx ] ]_ro+€. aq+4 |

3 x 3 T [- (2 L4 S
3 ox = [2¢ @'l— 2 1

I/ X =120 -4y 1e—17]
12 —% T -5

/3 X f.ﬂ:" i

Y x = [lex3 Ax® [ - (4% 23
LA x3E x> 12 =20
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Example 2:

é 2 -\—El) z_j x\;g -le,j =[o & 23 EIO g}

1

Lgxc‘-l-knil = -l—l{xa‘! LLCTFEe ERTN |

N 1+¢ | - 20 Y .:,}77777"

Lo+% 251

+[9 3] = F‘m i€_|
L Z =

e

1l v =[20 Ie} [u 7
= Lil
L w =f20-v le-T]- [m. ,q,
= CT=-%= 215

e Hixo+rix2 Ixia2x3 | =JloHo ga= |
W

]
=
i

=

Weaker responses exhibited lack of understanding of the concepts of multiplication and
addition of matrices and made different types of mistakes. One common mistake noted in the
multiplication was as follows:

1 2| (01 1x0 2x1
X =
3 4| |2 3] [3x2 4x3
The weaker candidates have no idea of conformability of matrices for addition, subtraction

and multiplication of matrices. The following examples depict few more mistakes observed
in the weaker responses.

Example 1:

Jyall 27 o 17T 87 (i 87 |
3 4 |%2 3]=le 4t e 4] /

g7
17 Ea Al {
_E’LX+ZL ;ﬁL SJ H
{2x0) [4x2) (m') a2 12 18
Ly 4 [i-4 i~6 "} /—/7
VERNE XYY [ix=fr-2 |
- f—?+(rfj7 !rio Pé / f 14‘9 (""y

3 R /!gnrn
é‘“ﬁﬁ [20 15’7 s

i o 1o o] _
A
Jg—x T ‘g}[ﬁ“{] | EVJ

X - E;.'LD); Q_i‘n—l -l—“:)

-S4 ) (Smag

il

L ]
—y
1

Y

3

L
3
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Example 2:

A X+, 2T wpe 1. Tle R fle b
B RO v MR
L oyarfelafon)  {i{aed) ] o [lorohafoed) lodlond
3 [lad)r(e)  (adplana) [(u'vM&i)(wa-“J
W4 To1Y Arel = (o4l 13402
3 o+¢ a9 ] 11412 u4lo)
4 Yar4 % =34 507

3 L 13 K 2y
A X [3‘1 30774 1
3 (2% ay) (¢ )

A y o+ T(set) 4Bo-6) (aq+"-+)+(zo-ws\.]

3 Do) +(aud)  (aa-3)+ {24.12)

S Ay

L[ 5

X %' %%‘ - X=[® . I
Ki’{: "2 {1‘4 e

Example 3:

Loxtfore 2t} = [20 ]
3 by U+t Lix 2]

2 =20 k)-A2 B4

T N CEUN
I x = {202 121
3 ln-3 246 )
‘= {@}: uf’:" P}
LA

| " = (5 tfé _ I}n:___
L2 '5”%]
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Question 6b:
3 2 4 2

For the matrices A= and B = . find AxB ™.
1 4 6 4

Better responses informed that candidates found the multiplicative inverse of the matrix B
systematically and followed all the necessary steps. After finding B~ they found the product
AxB™ correctly.

Example 1:
87 = Adprk ke - f?_;qi
dek “C
Ak = ad- bt 87 = [ T
= Hxhp— Fut _&fH H/Hl

-~ - DY | - [_1 —'f2 1

“imy |

pre =[ 3 l} < [ ‘Vl] B
P b |

= {8%‘ 4+ 7 x ~3/2 31”‘!:+2x1}

L"“‘* Yok -3, b =t 2 He
- = {3+ -3) Farr] = [o JQ'] Ars
Lie 0 - L5 4,0 |

Example 2:

b A x El_*‘d__ﬂdjﬁ"‘l’ Bl 1:“?—:]

B™': AdjintB & U
|8 Ax B 4 9

8= ad -be >ls 20 [0 -

. (D)) s 4) oy

26 [wr@0y) G«

N TR e |
B - E -ZJ] Eﬂ AT
e w ] T (g ) les B

M 1% h ljlo Yo i

B, 1 ""/2.7 L"% 1/1J L*5 s, J
L oo _
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Weaker responses showed that candidates made following mistakes:

Example 1:

Wrong calculation of the determinant of B

Instead of calculating AxB™, they calculated (AxB)™

They made mistakes in the multiplication of the matrices

Akl - 2 27 B [y 27

I Le = |

Cyoe— |12+ 18 A8 [
_ [+ & 8 4+16) |
i 1 AD 1 |

i _?_qu
Dxa 'z | 20— 12 ~1

Ifl Vs — o 3Ly =
P |'_1-‘:1. 1y
R T B =S S

Example 2:

,/f’.",Jr_B E-Tamd’{?;;f'!‘f 7

;o9

/é "—zf

A% B0

}xBF’/‘faﬁ H)4( 2% 6 )

£ 3xz2h( 2._1’4’_)7

L@ el yxo)

(tx2)ely x rlﬂ]

e+ &

Ei iR A 4R T
g + 24 A F fﬁj
;f 24 A /
AR
AxB" /28 1% | gt
[ -28 24

Failed to calculate adjoint of B and hence were unable to calculate B™* correctly
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Question 7:

The given diagram shows a circle having centre O. | and m are two lines parallel to each
other and m is tangent to the circle.

E A IF
i . m

NOT TO SCALE

45° |

Find the measurements of the following angles.

I. ZBAC
ii. ZABC
iii. ZACD
iv. ZBAE
V. Z/BAF

Better responses displayed that candidates were able to comprehend the diagram and applied
the related theorems to find required angles correctly. Justification was not required but few
of the candidates also wrote the justification.

Example 1:
rg AC 90" = trangle ke com-civde 1t doblamies
b aale .
)
i, ZARC
_RARAC =8O . S

Ry AorulW: Ifo =5k R0 2 = RaLW{»

iit. S AL
Zhco xRS = 180

WCrze RS > xerwe-ul >Taoialy

i SHEAR .
Czepg = we - (Ao akE) > 16K
- g

. LEAR

LBnL + BAE . fo"
HSDﬁLQQF 1B == RRF =1To u¢ QMJ
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Example 2:

SBAD
q'.Dﬁ Qh@;’-t "o L e - el
mt a0 e - =
STAMET
e L S L e e L
! AT
L L Ta LJ.LE = 1BL7 _
LR g
g ® . o
ZRAF
I3y "

Weaker responses indicated candidates’ lack of understanding of the theorems to find the
required angles. Hence, they were unable to find the angles correctly.

Example 1:

i. LBAC

ZBAC= ‘gu?.z?\e_men’cv\}l Anale

i LZABC

L 4B o Mrernalive Angle

idi, AALD

LA~ Complementry Anqle |

iv. LBAER

B Adiaint -4&1\ &

v, LBAF

L Bﬂf‘_ =_ &Sﬁi&t&_ﬁ; _________ ]
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Example 2:

_ﬂ_ff.ﬁ.-f‘l(,. 1%0’: Cmamﬂe < ?/.1 lg{j‘)
- (_pflfgr:gk?ve angle )
T a0t o580 (Bpkangle)
D Moethan1D (obtwe angle)

lest Tka.rﬂi(:‘);

Question 8:

Draw a triangle whose sides are of measurements 9 cm, 6 cm and 7 cm. Also construct
any two of its altitudes.

Better responses exhibited that candidates have good understanding of the construction of
geometrical figures with the given measurements. They also constructed the required altitude
correctly.

Example:

Weaker responses displayed that candidates were unable to draw the triangle with given
measurements and also failed to draw the altitudes of the triangle.

Page 28 of 33



Examplel:

e

Example2:

Question 9:

Find the area of a square that has a diagonal of length 10 cm.

Better response reported that candidates understood the question and very rightly applied the
Pythagorean Theorem to find the sides and the area of the square. In few other responses,

candidates applied the formula Area of Square = %(diagonal)2
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Example 1:

Y = {&y a3

(o) = & 4 ab

loo = e

e
Je = ot ) _ S
.o
So =a"_
Tl _aviee b M Sﬁpudv.& 15 B et
Example 2:

b
D
O

Example 3:

U A O e Gy

TP R T

. 100 fl o
Wi lCn _
| e < .E_L- )
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Weaker responses showed that the candidates were unable to understand the question and
applied wrong approach or formula to find the area of the square. The following examples
cite different mistakes and misconceptions noted in the weaker responses.

Example 1:

el T e s
2 Am=

= 22 b -
=

> x S -2
by

| BF = ro x Sre
FE = sren
LSS e

= LR oo F

Example 2:

ol = Aiole
o

10 = 5 em . Siole =5 ewn. |
2.

| Area of _Squane = 8*
= 5 A"S L _
| Area of square= 2.5 om™ Ams

Example 3:

e lorg O

K sz

Souore  Side ate ol egusl kn  ?

Cutn ol S0

- IDXA 2lengh ¥ ool bt haet

= 40

Frnen = 10010
=b0" e ares  ©F  Sgueee.
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Example 4:

Question 10:
Prove that the points A (0, 0), B (3, 4) and C (6, 8) are collinear points.

Better responses reported that candidates used the distance formula between the given points
and were able to establish the relation AB+ BC = AC to prove that the points A (0, 0),

B (3, 4) and C (6, 8) are collinear points.

Example 1:

B = \}'(;n-—lﬁel-f;ja—ﬂf}a Ao sl 2 gt = Jaens -+ 7 s |

1FA = (max)2e ('::f ~Ljﬁt'a (2 o) 1200 —-m_..Jﬁ_f.&;ﬁ: I

[G8l+ LB = 1P

5+ 5 5 (] . . —— ]

Example 2:

Y O e P e o ER Yo m\:@‘
=3-of 1G] =AM (D =14 (2 )
ARy | odan —d36v ey
{9416 =da¢ =300
=J2s =4 = o
=5 L
el + Il 4 Ca les proued Fhak moink AR anclc. -

ase. o fingas !,ﬂac"nfs -
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Weaker responses showed different mistakes in writing or applying the distance formula and
consequently, were failed to establish the relation AB + BC = AC.

d =0 +y1)+(x2 +Y2)
o d=0q-y)+(x2-Yp)
o d=(x—x)+(y2-¥)
e d =\/(x1+y1)2 +(%p +Y2)?
e d =\/(X2—X1)2 ~(y2 - 1)

The weaker responses also reported that candidates failed to identify the values of
X, X,, y; and y, correctly. Hence, they failed to fulfill the requirement of the question.

Example 1:
Dk once ot BB 3 At ixlgood
.._."_-z_]\_‘\.D—“?nlt{D‘.h«”}“
dane
- % |
Example 2:
XKoo= o A AT RE Y=, +4, +
o)._ d _'1“"_'_‘—_:'3
X= O 4+b Y= 0+ A4+ 8
A e
x= 9 Y= 12
P 2
=% Y= b
Example 3:

ARe $06-MV Ty Y Re= d0-y )1 he
L _Slr _D;S\?_':'I‘_(.Q:ﬂjl_ ce . =lh o -
____S ST M S S T e
| 4 +16 I o416

i $2¢
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